

$$\rho = \frac{c}{a} = \frac{f}{s} = \frac{a}{p} = -\frac{b}{a} = \frac{a}{p}$$

$$3x^2 - 11x + 4 = 0$$

$$\Delta = 49 - 16 = 33$$

$$\frac{1 \pm \sqrt{33}}{6} \Rightarrow \begin{cases} \frac{1+\sqrt{33}}{6} \\ \frac{1-\sqrt{33}}{6} \end{cases}$$

$$K \times 3K = \frac{f}{p} \Rightarrow K^2 = \frac{f}{9} \Rightarrow K = \frac{\sqrt{f}}{3}$$

$$K + 3K = \frac{a}{p} \Rightarrow K = \frac{a}{4p} \Rightarrow \frac{\sqrt{f}}{3} = \frac{a}{4p} \Rightarrow \frac{a}{p} = \frac{4\sqrt{f}}{3}$$

۱

$$\left(\frac{1}{\sqrt{x_1}} + \frac{1}{\sqrt{x_2}} = \omega \right)^2 = \frac{1}{x_1} + \frac{1}{x_2} + \frac{2}{\sqrt{x_1 x_2}} = \omega^2 \Rightarrow \left(\frac{x_1 + x_2}{x_1 x_2} + \frac{2}{\sqrt{x_1 x_2}} = \omega^2 \right) \times x_1 x_2$$

$$\Rightarrow x_1 + x_2 + 2\sqrt{x_1 x_2} = \omega^2 x_1 x_2 \Rightarrow \frac{m+14}{14} + 2\sqrt{\frac{1}{14}} = \omega^2 \times \frac{1}{14} \Rightarrow \frac{m+14}{14} + \frac{2}{\sqrt{14}} = \frac{\omega^2}{14}$$

$$\Rightarrow \frac{m+14}{14} = \frac{\omega^2}{14} \Rightarrow m = -1$$

$$m x^2 + 3x + 2 \rightarrow -x^2 + 3x + 2 = 0$$

$$\rho = \frac{c}{a} = -\frac{1}{14}$$

$$S = x_1 + x_2 = -\frac{b}{a} = \frac{m+14}{14} \quad \rho = x_1 x_2 = \frac{c}{a} = \frac{1}{14}$$

۲

$$f x^2 + k x^2 - 9x - 2 = 0 \Rightarrow (x^2 - x - 2)(f x + 1)$$

$$\alpha + \beta = 1, \alpha \beta = -2, K = ?$$

$$(x - \alpha)(x - \beta) = x^2 - (\alpha + \beta)x + \alpha\beta = x^2 - x - 2$$

$$\frac{f x^2 + k x^2 - 9x - 2}{f x^2 + f x^2 + 11x} = \frac{x^2 - x - 2}{x^2 + 11x}$$

$$\frac{k x^2 + f x^2 - 9x - 2}{x^2 + 11x} = \frac{x^2 - x - 2}{x^2 + 11x}$$

$$\frac{-x^2 + x - 2}{k x^2 + 11x} = 0 \Rightarrow K = -11$$

۳

$$x^2 + 9x + a = 0$$

$$\alpha < \beta < 0$$

$$3\alpha^2 + 2\beta^2 = 11\sqrt{2} + 11\Delta$$

$$a = ? = 11$$

$$\Delta = 81 - 4a \Rightarrow \alpha, \beta = \frac{-9 \pm \sqrt{81 - 4a}}{2} = -\frac{9}{2} \pm \sqrt{\frac{81 - 4a}{4}} \Rightarrow \alpha = -\frac{9}{2} - \sqrt{\frac{81 - 4a}{4}}, \beta = -\frac{9}{2} + \sqrt{\frac{81 - 4a}{4}}$$

$$\alpha + \beta = -9$$

$$\alpha \beta = a$$

$$\alpha^2 = 11 - a + 9\sqrt{9 - a}, \beta^2 = 11 - a - 9\sqrt{9 - a}$$

$$3(11 - a + 9\sqrt{9 - a}) + 2(11 - a - 9\sqrt{9 - a}) = 11\sqrt{2} + 11\Delta \Rightarrow 55 - 5a + 9\sqrt{9 - a} = 11\sqrt{2} + 11\Delta$$

$$9\sqrt{9 - a} = 11\sqrt{2} \Rightarrow \sqrt{9 - a} = \frac{11\sqrt{2}}{9} \Rightarrow 9 - a = \frac{121 \times 2}{81} \Rightarrow a = 11$$

۴

$$x^2 - 11x^2 - 5 = 0$$

$$x^2 = t \Rightarrow t^2 - 11t - 5 = 0$$

$$\Delta = 121 + 20 = 141$$

$$t = \frac{11 \pm \sqrt{141}}{2} \Rightarrow \begin{cases} \frac{11 + \sqrt{141}}{2} \\ \frac{11 - \sqrt{141}}{2} \end{cases}$$

$$\Rightarrow x = \pm \sqrt{\frac{11 \pm \sqrt{141}}{2}}$$

$$\alpha + \beta = 0 \Rightarrow S = 0$$

$$\alpha \beta = P = +\sqrt{t} \times -\sqrt{t} = -t = -\frac{11 \pm \sqrt{141}}{2}$$

$$3P^2 - 5SP + 1S \Rightarrow 3\left(\frac{11 \pm \sqrt{141}}{2}\right)^2 - 5 \times 0 \times P + 1 \times 0 = 3 \times \frac{121 \pm 22\sqrt{141} + 141}{4} = \frac{1111 \pm 165\sqrt{141}}{4}$$

۵

$r_1 x^p - a x + b = 0 \quad x_1, x_r$ $s = \frac{a}{p}, \rho = \frac{b}{p}$ $r_1 x^p + a x - q = 0 \quad y_1, y_r$ $s = -\frac{a}{r_1 a} = -\frac{1}{r}, \rho = -\frac{q}{r_1 a} = -\frac{r}{a}$ $\left[\frac{ab}{r} \right] - \left[\frac{1 \cdot x - q}{r} \right] = -r$	$x_1 = y_1 + \frac{1}{p} \Rightarrow x_1 + x_r = y_1 + y_r + 1$ $x_r = y_r + \frac{1}{p} \Rightarrow \frac{a}{p} = -\frac{1}{p} + 1 \Rightarrow a = 1$ $x_1 x_r = \left(y_1 + \frac{1}{p} \right) \left(y_r + \frac{1}{p} \right)$ $y_1 + y_r + \frac{1}{p} (y_1 + y_r) + \frac{1}{p^2} = -\frac{r}{a} + \frac{1}{p^2} + \frac{1}{p^2} = -\frac{r}{a}$ $x_1 x_r = \frac{b}{p} = -r \Rightarrow b = -q$	$s = -\frac{b}{a} = \frac{a}{a} - 1, \rho = \alpha \beta = \frac{c}{a} = -\frac{b}{a}$
$a x^p - a x - b = 0$ $r_0 \beta^p + r_0 \alpha^p - r_0 \beta = 14 \Rightarrow \alpha^p + \beta^p - \beta = \frac{14}{r_0}$ $a \alpha^p - a \alpha - b = 0 \Rightarrow a(\alpha^p - \alpha) = b \Rightarrow \alpha^p = \alpha + \frac{b}{a}, \beta^p = \beta + \frac{b}{a}$ $\alpha^p + \beta^p - \beta = \left(\alpha + \frac{b}{a} \right) + \left(\beta + \frac{b}{a} \right) - \beta = \alpha + \beta + \frac{2b}{a} = \frac{14}{r_0} \Rightarrow \frac{2b}{a} = -\frac{r}{r_0} \Rightarrow \frac{b}{a} = -\frac{1}{r_0}$ $\alpha - \beta = \frac{\sqrt{a}}{14} = \frac{\sqrt{a^p - r_0 a b}}{14} \Rightarrow \frac{\sqrt{a^p (1 + \frac{2b}{a})}}{14} = \frac{14 \sqrt{1 + \frac{2b}{a}}}{14} = \sqrt{1 + \frac{2b}{a}} = \sqrt{1 - \frac{2}{r_0 a}} = \frac{r}{\sqrt{a}}$	$s = -\frac{b}{a} = \frac{a}{a} - 1, \rho = \alpha \beta = \frac{c}{a} = -\frac{b}{a}$	$s = -\frac{b}{a} = \frac{a}{a} - 1, \rho = \alpha \beta = \frac{c}{a} = -\frac{b}{a}$
$x^p - (a+1)x + a = 0 \quad (x_1, x_2) \Rightarrow r_1 n - 1, r_1 n + 1 \Rightarrow 1, 2$ $r_1 n - 1 = r_1 n^p - 1 = r_1 n^p - r_1 n = 0 \quad s = (r_1 n - 1) + (r_1 n + 1) = r_1 n \quad s = -\frac{b}{a} = a + 1 = r_1 n \Rightarrow a = r_1 n - 1$ $\Rightarrow r_1 n(n-1) = 0 \Rightarrow n = 1, a = 2 \quad \rho = (r_1 n - 1)(r_1 n + 1) = r_1^2 n^2 - 1 \quad \rho = \frac{c}{a} = a = r_1 n^p - 1 = 2$	$x^p - (r_1 a + 1)x + b = 0 \quad (x_1, x_2) \Rightarrow r_1 m, r_1 m + 1 \quad \rho = b = r_1^2$ $a = 2 \Rightarrow x^p - 10x + b = 0 \quad \rho = (r_1 m)(r_1 m + 1) = r_1^2 m^2 + r_1 m = \frac{c}{a} = b$ $-\frac{b}{a} = s = r_1 m + 1 = r_1 a + 1 = 10 \Rightarrow m = 9$	$s = -\frac{b}{a} = a + 1 = r_1 n \Rightarrow a = r_1 n - 1$
$x^p + x - 1 - m^p = 0 \Rightarrow x^p + x - (1 + m^p) = 0$ $s = \alpha + \beta = -\frac{b}{a} = -1$ $\rho = \alpha \beta = \frac{c}{a} = -(1 + m^p)$ $m^p \neq 0 \Rightarrow m \neq 0 \Rightarrow m = 0 \Rightarrow \rho = -1$	$\alpha^p + \beta^p = (\alpha + \beta)^p - p \alpha \beta$ $= (-1)^p - p \left(-\frac{1 + m^p}{-1 - m^p} \right) = 1 + p m^p$	$s = -\frac{b}{a} = a + 1 = r_1 n \Rightarrow a = r_1 n - 1$
$A(x, y) \quad x = \frac{r_1 + (-a)}{p} = -1$ $B(-a, y) \quad \alpha^p + \beta^p = a$ $y = a(x - b)^p + k \Rightarrow y = a(x + 1)^p + 1 \Rightarrow y = a x^p + p a x + a + 1$ $0 = a(x + 1)^p + 1 \Rightarrow a(x + 1)^p = -1 \Rightarrow (x + 1)^p = -\frac{1}{a} \Rightarrow x + 1 = \sqrt[p]{-\frac{1}{a}} \Rightarrow x + 1 = \pm \sqrt[p]{-\frac{1}{a}}$ $\Rightarrow x = -1 \pm \sqrt[p]{-\frac{1}{a}} \Rightarrow \left(1 + \sqrt[p]{-\frac{1}{a}} \right)^p + \left(1 - \sqrt[p]{-\frac{1}{a}} \right)^p = a \Rightarrow -\frac{p}{a} + \frac{p}{a} = a \Rightarrow a = -\frac{p}{p}$	$(-1, 1) = (x, y) \Rightarrow x = 0$ $y = -\frac{p}{p} + 1 = \frac{1}{p}$	$s = -\frac{b}{a} = a + 1 = r_1 n \Rightarrow a = r_1 n - 1$